Percentage Increase Worksheet

Solve.

84 is increased to 142.128. What
is the percentage increase?

Answer:

81 is increased to 131.22. What
is the percentage increase?

Answer:

74 is increased to 111.666. What
is the percentage increase?

Answer:

6 is increased to 8.322. What is
the percentage increase?

Answer:

94 is increased to 158.202. What
is the percentage increase?

Answer:

63 is increased to 107.163. What
is the percentage increase?

Answer:

90 is increased to 60.3. What is
the percentage increase?

Answer:

33 is increased to 46.662. What
is the percentage increase?

Answer:
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Percentage Increase Worksheet

Solve.

84 is increased to 142.128. What
is the percentage increase?

Answer: 69.2%

81 is increased to 131.22. What
is the percentage increase?

Answer: 62%

74 is increased to 111.666. What
is the percentage increase?

Answer: 50.9%

6 is increased to 8.322. What is
the percentage increase?

Answer: 38.7%

94 is increased to 158.202. What
is the percentage increase?

Answer: 68.3%

63 is increased to 107.163. What
is the percentage increase?

Answer: 70.1%

50 is increased to 60.3. What is
the percentage increase?

Answer: 20.6%

33 is increased to 46.662. What
is the percentage increase?

Answer: 41.4%
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